11R00-XX Rev 2_iSheets LEGEND oo

RAM PROMASTER-REAR GRAB HANDLE KIT(KIT #: 11R00-XX)
INSTALLATION INSTRUCTIONS

NOTE: Color of the actual part may vry from the pictures included.

PARTS INCLUDED :

1. Rear Grab Handle (Qty = 2) 2.Plus Nut 3. Nylon Lock Nuts
[Length = 40.450 inches] (Qty = 6) (Qty = 2)
/ / \\\/g)

4. Drlver Slde s Bracket 5. Passenger Side’s Bracket

(Qty =1)

6.M8 Bolt 7.Flat/Fender Washer 8.Split Lock Washer
(Qty = 8) (Qty = 10) (Qty = 6)

N @

v3.0 Page 1 of4




11R00-XX Rev 2_iSheets LEGEND e sowmions

INSTRUCTIONS:

1. On the rear pillars of driver and passenger sides, locate and drill holes of 0.45"” diameter at the
locations highlighted in red in the pictures below, depending upon the roof-height of the van. Each
pillar has three holes to be drilled out.

NOTE : Use of a drill stopper of 1 inch is recommended.

“Low Roof-Height” “High Roof—Hight"

2. Install plus nuts in all the six holes drilled in step # 1, as shown in the following two pictures.
NOTE : A rivet nut tool may be used to install the plus nuts.

“Plus nuts to be installed in the upper section”

v3.0 Page 2 of 4




11R00-XX Rev 2_iSheets

LEGEND oo

M8 Plus Nut

"Plus nut to be installed in the lower section”

3. Identify the driver and passenger side brackets, by verifying the shape of cut-outs on them, as

shown below.

"Driver Side’s Bracket”

“Passenger Side’s Bracket”

4. |Install the brackets, and fasten the upper flange of the grab handle using the hardware as shown in

the picture below.

NOTE : The bend lengths of the pipe at the upper and lower flanges is as shown below.

(Lower Flange)

I Approx. 2.60 inches

Approx. 1.90 inches I
(Upper Flange)

“Bend lengths of pipe at the upper and lower flanges”

v3.0

Page 3 of 4




11R00-XX Rev 2_iSheets LEGEND oo

Fender Washer

Split Lock Washer
M8 Bolt

Fender Washer
Fender Washer

Nylon Lock Nut

Driver Side's Bracket

“Fastening of the upper flange of handles”
[NOTE: Similar hardware is to be used on the passenger side along with the passenger side’s bracket]

5. Align the lower flange of the grab handles to the lower plus nuts installed in step #2, and fasten
using the hardware provided, as shown below.

M8 Bolt

- —Q il piS=——
Split Lock Washer/

Fender Washer

"“Fastening of the lower section of handles”
[NOTE: Similar hardware is to be used on the passenger side]

v3.0 Page 4 of 4




